1. AABC with side lengths of 4 cm, 4 cm, and 7 cm.

a. Draw and label AABC with ruler and angle ruler/protractor, if possible. If not possible, explain why.
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b. Isit possible to draw a different triangle with these same measures? Explain.
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. ADEF with side lengths of 2 in, 3 in, and 6 in.
a.

Draw and label ADEF with ruler and angle ruler/protractor, if possible. If not possible, explain why.
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Is it possible to draw a different triangle with these same measures? Explain,
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3. AJKLwith £JKL = 50°,£KL] = 75° and KL = 2.5 inches.

a. Draw and label AJKL with ruler and angle ruler/protractor, if possible. If not p
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b. Isit possible to draw a different triangle with these same measures? Explain.
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b. Isit possible to draw a different triangle with these same measures? Explain.
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5. AABC with £ABC = 45°, £CAB = 55° and £BCA = 85°.

a. Draw and label AABC with ruler and angle ruler/protractor, if possible. If not possible, explain why.
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b. Isit possible to draw a different triangle with these same measures? Explain.
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6. Find the value of x. Show your work and explain your thinking in words.
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7. The ﬁgure below shows parallel lines that are crossed by a transversal. The measure of 22 = 45°, Find
the measures of angles 3, 6, and 7. Name the angle relationship that helped you find each measure.

a. The measure of £3 = ys°

because 22 and 23 are\J&xtica\ angles. 1/

b. The measure of z6= 45° “ 374 e
because £2 and 26 are _ (t((C { angles AND 5/
because £3 and 26 are _a \Mexnae Ny ¢ angles. - / 3 N

c. Themeasureof 27 = 4S5°
because £2 and 27 are _a\YeN ot ey ity iy angles,




8. The following problems use your understanding of supplementary, complimentary, vertical and adjacent
angles. For each problem, write and solve an equation to find the value of x. Then, use that value to
find the measure of LABC. The diagrams are not to scale.

a. .ABC=__ 33° x=_ |4° b. zaBC=_9"° x=_ k"
A S1+1x +S =90 x4+ 23+5Sx +\| =180 C

xtV2 =40 Il + & = \KD
Cxexesy -wl -2 e, ..
2v=2% Wy = b
. 2 nA (Bx + 3)°
57° N -
X = |4 x =\b
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Laec = 2(H+S =33 LABC = L (1L)+3 =99




Zx =5%
y
x =29

LABC= 2(12)+ 1=

d.
A

LABC=_\D\®° x=__43°
2w+ 1S + 444+ 2\S =30
L3+ 274 =30
= B =174
2x =3
z z
e =43

(2x + 16)° C
215°

LABC = Z(4R) +1S
D = 1)




9. Based on the diagram, determine whether each equation is true. Select True or False for each statement.

545:22=U% 2y dOABX Sx = 10

- e +14 =\%O
2:15%\b a4 -9
@« 16y T = !
Lol =1 =7
=23
Statement True False

2x + 16° = 62° X
3° 4 5x = 118° pd
7x +19° = 90° S




Homework:

study and bring silent reading book

(optional practice worksheets will be
available on my website)




